.
obztst 2ha +E B4 MH(Z71E)
25 | (HE, %)
2w 27te 2020'3 (T H|) 2020'3 9B (R Al) 20213 9™ (Al 20213 o ¥
+E3Y E3UE FUYSY +E3Y FUSA +E3Y E3UE YUY FE3Y U3Y
1 o 30,009 -114 14,369 21,582 10,471 21,223 -1.7 11,768 2,286 1,310
2 o= 10,660 -19.5 310 7,611 242 10,207 34.1 258 872 24
3 = 6,801 -347 37,848 4,623 28,293 6,429 39.1 29,648 518 3,279
4 =9 5,260 -28.8 3,206 3,888 2,467 4,543 16.8 3,363 607 279
5 YA 2,676 -273 1,168 1,908 979 2,528 325 1,064 195 139
6 Hgate 2,100 -27.8 10 1,518 9 2,310 52.1 - 300 -
7 dota 2,221 -375 6,543 1,665 4,797 2,179 309 5,736 230 533
8 =3 2,427 -38.7 371 1,548 300 2,073 339 139 222 5
9 O|&talot 1,722 -9.9 5,222 1,483 3,504 2,070 396 3,641 50 352
10 H|E 3,470 -26.4 17 2,401 17 1,924 -19.9 - 74 -
A 83,804 -  26.2 70,930 60,138 52,405 68,529 14.0 57,070 7,454 6,097
25 MEeta
2w 27te 20203 (K H) 2020'd 9 (- A) 2021 9 (4] 20219 of =
TE3Y SEZTUE Y2y +E3Y TS +E3Y SEZTUE YUY FE3Y U3y
1 = 15,461 90.5 39,294 11,869 33,174 36,548 207.9 31,855 2,871 3,062
2 o= 3,854 104 8,072 3,226 6,694 6,436 99.5 9,630 557 934
3 =3 2,239 -54.9 360 1,635 296 4,497 175.0 163 1,687 12
4 ZA 538 -595 689 451 620 1,957 333.8 280 289 29
5 O|Ef2lot 612 -25.4 45514 428 35,951 1,088 154.0 32,412 18 1,768
6 e 2,162 252 7,173 2,072 4,823 1,073 -482 4,754 21 219
7 M7tE=2 1,670 -28.8 215 1,350 156 1,044 227 8 38 2
8 = 841 -48.9 263 748 221 1,018 36.0 206 30 16
9 CHEt 1,417 -21.1 1,210 1,249 1,105 1,015 -18.7 1,040 43 38
10 otgofjolzE 439 -41.0 2 364 2 928 155.0 2 35 -
HH 33,240 5.7 104,639 26,388 84,586 59,795 126.6 81,255 5,923 6,218
2= 2HEUX
aw - 20203 (K H) 20209 9 (AN 20214 9” (4D 20214 o =g
+E2Y SESUE FYUSY +E3A FUSA +E2Y SETUE YUY FE2Y FU3Y
1 = 54,252 -23.0 398 35218 287 54,421 545 777 5,097 41
2 e 47,705 38 1,331 34,942 1,115 34,920 -0.1 743 5,235 56
3 Ap-C|ot2td|of 8,845 -11.7 - 7,566 - 8,970 186 - 381 -
4 Ef = 8,834 -33.8 24 5,947 5 8,646 454 12 815 3
5 QI | AlOF 5118 -38.2 1,133 3,595 837 8,484 136.0 1,424 331 -
6 =3 5,452 -38.1 5,906 3,302 4,418 5,497 66.5 4,379 268 498
7 =9 7,048 -0.3 1,762 6,184 1,566 5,189 -16.1 1416 1,302 28
8 2{A|O} 3,870 -11.2 - 2,165 - 4,334 100.2 - 449 -
9 o= 2,812 57.6 34,499 2,161 28,664 3,846 78.0 37,483 681 1,400
10 CHEt 2,811 -22.1 1 1,823 1 3,598 97.4 4 246 -
A 178,337 - 16.7 130,212 126,374 107,293 168,293 33.2 113,744 18,235 4,860




